
BOECHOUT Capenberg *** ClubTornooi *** 4 giften per ronde *** 13/02/2024

1 Goor Liselotte-Geens Karine 31 Beirens Yvonne-Creffier Sonja

2 Mertens Chris-Bastiaense Rita 32 Vd Meijdenberg Marianne-Van Genechten R

3 Smout Christiane-Myncke Jacques 33 Vonck Annemie-Vansteenbeeck Greet

4 Roes Jef-Mertens Willy 34 Van Hoogten Staf-De Bie Chris

5 Van Aert Hilde-Van Haren Ton 35 Vander Elst Louis-Mannaerts Linda

6 Van Haut Viviane-Symons Linda 36 Cruyplant Yolande-Maes Jeannine

7 Thibaut Kristin-Boel Theo 37 Voet Peter-Snyders Robert
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